
SIGNO
Jeep
Compass 07/2017– SIGNO

Jeep
Compass 07/2017 –
Art.-Nr. / Part-No. : 044 377
Art.-Nr. / Part-No. : 047 377

044 377

(Stahl)
(Steel) 4,5 kg
047 377

(AERO Aluminium) 4,0 kg

max.
50 kg

max.
50 kg KG KG KG

KG KG KG
KG KG KG

max. kg?

Art.-Nr. / Part-No. : 044 377 (Stahl / Steel)

Art.-Nr. / Part-No.: 
047 377 (AERO Aluminium)

SIGNO

Wichtige Verwendungs- und Warnhinweise

Important usage notes and warnings

Instructions et mises en garde importantes

Belangrijke aanwijzingen voor gebruik en ter waarschuwing

Importanti istruzioni per l'uso e avvertenze generali

Indicaciones de uso y advertencias importantes

Důležité pokyny pro používání a upozornění

Ważne wskazówki dotyczące stosowania produktu i ostrzeżenia

Instrucţiuni generale de utilizare şi avertismente

Dôležité pokyny na použitie a upozornenia

Vigtige anvendelses- og advarselshenvisninger

Tärkeitä käyttöohjeita ja varoituksia

( )* +/ 1 2+36789:22 ;< 23;<=>@<A)+2C 2 ;71E8;71* E)C F 21 89)@)+2G

D

GB

F

NL

I

E

CZ

PL

RO

SK

DK

FIN

RUS

osowawaw

vve

cias im

upoz

mpor

voor gebruik en t

per l'uso nze gene

e uso y ad tes

okyk ny pr

e wskak zó zeżenia

nstrucţiuni generale de utilizare şi avertismente

SIGNO
XXXXXX
XXXXXXXXXX XX/XXXX –
Art.-Nr. / Part-No. : XXX XXX
Art.-Nr. / Part-No. : XXX XXX

XXX XXX

(Stahl)
(Steel) 4,5 kg
XXX XXX

(AERO Aluminium) 4,0 kg

max.
50 kg

max.
50 kg KG KG KG

KG KG KG
KG KG KG

max. kg?

Art.-Nr. / Part-No. : XXX XXX (Stahl / Steel)

SIGNO

WichtigeVerwendungs-undWarnhinweise

Importantusagenotesandwarnings

()*+/12+36789:22;<23;<=>@<A)+2C2;71E8;71*E)CF2189)@)+2G

D

GB

F

NL

I

E

CZ

PL

RO

SK

DK

FIN

RUS

Art.-Nr. / Part-No.: 
XXX XXX(Aluminium Aero)

Atera GmbH
Im Herrach 1
D-88299 Leutkirch
Internet: www.atera.de

 
  

 
   

     
 

6 7

© ATERA GmbH
Ref.-Nr.: 044 377_096434437700_992570050200
Ref.-Nr.: 047 377_096434737700_992570050200
Stand/State: 05/03/2020 

Rev 00 Ver 00

    

    1-  9945700090
    2-  9919700143
    3-  9945700105
    4-  9912700051
  5a-  9918700526
  5b-  9918700527
    6-  9918700250
    7-  9918700249
    8-  9910700004
    9-  9908700231
  10-  9908700046
  11-  9910700035
  12-  9908700010
  13-  9918700286
  14-  9949701916
15a-  9949700410
15b-  9949700410
15c-  9949700410
15d-  9949700410
  16-  9908700197
  17-  9910700035

4

6

7

8

9

2 12
13

®

5a (FL+RR)
5b (FR+RL)1

3

A
B C1 (FL+RL)

C2 (FR+RR)

nur bei Art.Nr.:    047 377
only for part no.: 047 377
  A-  9919700163
  B-  9945700222
C1-  8828700062
C2-  8828700063

9904700387
(TX30)

10(M6x10)
11

14

15a (FL)
15b (FR)
15c (RL)
15d (RR) 

16(M6x18)
17

8



F L

R L

F R

RR

1

SIGNO
Jeep
Compass 07/2017–

SIGNO
Jeep
Compass 07/2017–

F L

R L

F R

RR

1

6-8 Nm

2
TX 30 (Art.Nr. / Part.No. 9904700387)

TX 30 (M6x18)

3

TX 30 (M6x10)

6-8 Nm

TX 30 (Art.Nr. / Part.No. 9904700387)

4

F L

R L

F R

RR

ca. 6 Nm
TX 30 (Art.Nr. / Part.No. 9904700387)

5

2

ca. 2 x

TX 30
 (Art.Nr. / Part.No. 

9904700387)

3

F L

R L

F R

R R

A1 = A2

F L = 9 9 4 9 7 0 0 4 1 0           F R = 9 9 4 9 7 0 0 4 1 0        

A1 A2
F R

B1 = B2

R L = 9 9 4 9 7 0 0 4 1 0       R R = 9 9 4 9 7 0 0 4 1 0        

B1 B2
R R

INFO


